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Explain why in the short run equilibrium of the
perfectly colmpetitive'firm price is equal to marginal
cost, while in the long run equilibrium price is equal

to marginal cost as well as average cost. (6)
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Why do the average and marginal revenue curves for

a firm in a competitive market horizontal? (6)
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Why do firms enter an industry when they know that

in the long run economic profit will be zero? (6)
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. Attempt any two questions.

Answer the following questions :

(a) Explain the effect of an imposition of a tax on
manufacturers of drugs using demand-supply
diagram on the price and quantity traded of the

‘ illegal drugs market.. (6)
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SECTION D

Attempt any three questions.

Under what conditions will a firm shut down

temporarily? Expiain. : (6)

et aRRafedl ¥ A oo s ¥ A 7@ B wA? ="
| o

PO,



) b i E 3323 ‘ i3

ffolags v = & I '&tﬁm;' (b) Explain why the Production Possibility Curve
; ; ; A (PPC) is bowed outward (concave to the origin).
() T B wRww o P @ Pead @ A9 w0 @y _ What will be the ‘shape of the PPC if the
27 YaRE & 9emar ¥ wWaEg opportunity cost of Good Y in terms of Good X is
: constant? ' i (6)
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9. -Consider a competitive firm producing Good X. From , : HIER T B

the table given below, calculate TFC, TVC, AFC,
AVC, AC, and MC. 2. Answer the following questions :

the market price of G is Rs. 40, '
't Phe tlnpeel RIIoR 9 chisidieith il (a) Does a price ceiling fixed by the government

should the firm be producing any quantity? Explain.

always change the market outcome? Give reasons
(12) ‘

for your answer. (6)
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(b) Consider the following demand and.supply'
equations, where Q_ is the quantity supplied, Q_ is
the quantity demanded and P is the price of the

~ commodity:

Q, = 2P - 100

Q, =200 -P
(i) Solve for the equilibrium quantity and price.

(i1) Suppose a tax of Rs. 15 per unit is imposed
on buyers, making the new demand curve

as: Q, = 200 — (P + 15). Calculate the tax
{
revenue earned by the government.
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8. Answer the following questions :

(a) What is the relationship between returns to scale
and economies of scale? Explain with the help of

diagram(s). (6)

(b) Suppose a firm produces 10 units of output (Y)
using two inputs Labour (L) and Capital (K).
Derive the equation of isoquant when the firm s

‘having following production functions :  (3%2=6)

1 1
(i) Y = L2 K?

(i) Y = 100L + 50K

ARG
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using two inputs Labour (L) aﬁd Capital (K).
Suppose the price of capital increases. Illustrate

the change in least cost combination of L and K

-using isocost and isoquant diagram. i ()

(b) Distinguish betweén economic profit and

accounting profits. Which is higher and why?
Calculate economic and hccounting profit of a firm
if revenue is Rs. 100,000 and all its costs being
paid are Rs. 30,000. Firm is saving Rs. 10,000 by

not hiring a manager as the owner herself is looking

after the firm. ' | (6)
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Q, = 2P — 100
Q. =200 F
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3. Answer the following questions :

(a) Calculate cross price elasticity of demand between

the following pairs of goods and examine how the
goods are related in each case, when the price of

Gel pen changes from Rs. 5 to Rs. 2: :
(i) Gel pen and Ball point pen

(ii) Gel pen and Refill Ink (6)
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Good Price per unit Good - Quantity
Initial Price New Price Initial New Quantity
Quantity
Gel Pen Ball Polst 10 8
; Pen
Gel Pen - 2 Refill Ink 10 15

(b) It is observed that at the existing equilibrium

demand is highly inelastic while the supply is highly

elastic. If the buyers have to pay a tax of Rs. T
for each unit they buy, who will bear the higher

burden of tax: buyer or seller? Explain why.

(6)
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SECTION C

Attempt any two questions.

7. Answer the following questions :

(a) Consider a firm producing 100 units of Good Y

P. 1.0,
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(d) Find the equilibrium consumption of burger and 7 ¥ T ? R wieEr dge W A St AR

. movie for Naveen, when he spends his entire . : _ e amﬁ mm%l W @Y Tﬁ T T
income. : : ) ; ; : - v '
w A N B YRE T @ e ¥ Wl ¥, W
(e) Now suppose, he gets a scholarship of Rs. 200. ; =1 3 qE T 95T FO0 @R a1 AR TR
How would Naveen’s consumption of burgers and | A :
|
movies change, when he spends his entire income?
(f) Continuing with Part (d), now suppose the price Bt O e B
of burger falls to Rs. 20. How would Naveen’s
] ! ‘ t tions.
consumption of burgers and movies change? Will AP e ra
he be spending his entire income?
(1+1+1+2+3+4) £ "\ 4. ' Answer the following questions :
T, UF FoW OF @ W @9 &9 @ o T awr A S (a) Consider a consumer consuming two goods X and
600 3 98 5 N TS foew I T R A m 2 @i : Y, where X is an inferior.good for him. Suppose

s : o ¥ .F, 50 T o @ f S the price of Good X rises. What would be the
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effect of this change on the consumption of Good

Y. Illustrate with the help of diagram(s). (8)

. A ol e
(3r) = & woic wiwe Sfer (b) Explain what would be the shape of the

@) ﬁwmﬁmmwﬁﬁa%mwww | ‘. | .indifference curves when marginal rate of
B 39 5 ; substitution between two goods is zero.  (4)
q&dl & | s
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Answer the following questions :

(a) Using indifference curves analysis, 'explain the
labour-leisure choice of an individual when the

wages change, and the resulting shape of the

labour supply curve. (8)

(b) A consumer spends his entire income on buttermilk
and biscuits. Can both be inferior goods at the

same time? Explain. (4)
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Naveen, a college student has Rs. 600 a week to
spend. Whenever he goes to watch a movie, he always
buys two burgers. The price of the burgcr is Rs. 50

and the price of a movie ticket is Rs 100. Answer the

following questions :

(a) Draw Naveen’s budget constraint.

(b) Find the rate at which burger can be traded for a

Movie ticket?

(c) Draw few indifference curves for Naveen showing

his preferences over burger and movie.
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